o
4
m
c
<
>
o |
)
0
o
c
o
C
z
(0)
n

PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE O21E

Material Code

Materials
__ . A = Brass Nickel Plated
I _| —
ﬂ B = Brass Nickel Plated
- A S I
m
| % C = Brass Nickel Plated
A o ) | S = Brass Nickel Plated
B C
0 - 35 bar -20° to + 100°C (NBR) Shut Off

(0-508 PSI) .: -4° to + 212°F Type : : :

OM 178 - 00765
OM 200 - 00450

SAFETY LOCK D N

Air Water
1,2 6,0
1,0 / 5,0
—~ 08 4,0 /
= / — ’ /
o =
o
=) 0,6 / 2 3,0
Q
3 / g
o 04 =
g // ° ¥ /
é 0.2 / § 1,0 /
o 4 /
o 00 a oo -
0 200 400 600 800 0 5 10 15 20 25
Flow Rate I/min Flow Rate I/min
Options Plug Profile Serie 021E Compatible with
PARKER - RECTUS 21KS
AlSI316 i L
FPM I~ e 1 53
Stainless Steel S S
-2.6
6.2—
142 o
tst-tamsan.com We reserve the modify without prior notification measurements, shape and material of component parts illustrated in our present catalog. tst




PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE 021E

wn
O
Zz
|
o
=2
(@]
O
8]
|_
<
>
-}
L
z
a

—O>-| with female thread

o

Connection Part No. SwW L @D Connection Part No. SwW L @D
BSP 1/8" 021EGE 10 14 37 16 BSP 1/8" 021 DGE 10 14 36,5 16
BSP 1/4" 021EGE 13 17 39 16 BSP 1/4" 021DGE 13 17 385 16
BSP 3/8" 021EGE 17 19 39 16 BSP 3/8" 021 DGE 17 19 385 16
M10x1 021 EGEM 10 14 39 16 M12x15 021 DGEM 12 17 395 16
M12x15 021EGEM 12 17 40 16 M 14 x15 021 DGEM 14 17 395 16
M14x15 021 EGEM 14 17 40 16

—O~ with standard hose tail —O~ with plastic hose tail —O with panel mount plastic hose tail

S!
T Comnection | partNo. SW L 10D [Comnection —_ parto. | SW| L | 00)
4 mm-1/6" 021 HGE 04 4x6mm-M10x1  021PGE 04 14 43 16 4x6mm-M10x1 021SGE04 14 55 16
6 mm-1/4" 021 HGE 06 14 47 16 6x8mm-M12x1  021PGEQ6 14 43 16 6x8mm-M12x1 021SGEQ6 17 55 16

8 mm-5/16" 021HGEOQ8 14 47 16
9mm-5/14"  021HGEOQ? 14 47 16
10mm-3/8" | 021HGE10 14 47 16

PLUGS STECKNIPPEL

-<— with female thread

~<—  with male thread

|
T H
W
Connection Part No. SW L Connection Part No. SW
BSPT 1/8” 021 EUE 10 14 25 BSP 1/8" 021DUE 10 14 25
BSPT 1/4" 021EUE 13 17 28 BSP 1/4" 021 DUE 13 17 25

-£— with standard hose tail

___%___fBE

(
—gD—
|

E%

4 mm-1/6" 021 HUE 04 335 9 4 mm - M 10x1 021 MUE 04

5mm-1/5" 021 HUE 05 335 9 5mm - M 10x1 021 MUE 05 14 50 -
6 mm-1/4" 021 HUE 06 335 9 6 mm - M 12x1 021 MUE 06 14 50 -
8 mm-5/16" | 021HUE 08 8815} 10 8 mm - M 12x1 021 MUE 08 14 50 -
9 mm-5/14" | 021 HUE 09 335 10

10 mm - 3/8" | 021 HUE 10 335 1

tst We reserve the modify without prior notification measurements, shape and material of component parts illustrated in our present catalog. tst-tamsan.com




